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INSTRUCTIONS FOR CANDIDATES

Answer all questions.

All questions carry equal marks.

Only one answer is to be given for each question.

If more than one answers are marked, it would be treated as
Wrong answer.

Each question has four alternative responses marked serially
as 1, 2, 3, 4. You have to darken only one circle or bubble
indicating the correct answer on the Answer Sheet using
BLUE BALL POINT PEN.

The OMR Answer Sheet is inside this Test Booklet. When
you are directed to open the Test Booklet, take out the Answer
Sheet and fill in the particulars carefully with blue ball point
pen only.

1/3 part of the mark(s) of each question will be deducted
for each wrong answer. A wrong answer means an incorrect
answer or more than one answers for any question. Leaving all
the relevant circles or bubbles of any question blank will not
be considered as wrong answer.

Mobile Phone or any other electronic gadget in the
examination hall is strictly prohibited. A candidate found with
any of such objectionable material with him/her will be strictly
dealt as per rules.

Please correctly fill your Roll Number in O.M.R. Sheet.
5 Marks can be deducted for filling wrong or incomplete Roll
Number.

If there is any sort of ambiguity/mistake either of printing or
factual nature, then out of Hindi and English Version of the
question, the English Version will be treated as standard.

Warning : If a candidate is found copying or if any unauthorized
material is found in his/her possession, F.LR. would be lodged
against him/her in the Police Station and he/she would liable to be
prosecuted. Department may also debar him/her permanently from
all future examinations.
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Do not open this Test Booklet until you are asked to do so.
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1. Motor cells are found in the upper epidermis T Rl § AR iReN | (Re
of- PIRNGG) d1g oIt & ~
(1) Nerium leaf @) iR o T H
(2) Phylloclade : @) quieaeT o
(3) Cladodes 3) qoihgd 3
(4) Maize leaf @) WD B T
2. Causative organism of filariasisis - FRARTRT B BRP OlF & —
(1) Wuchereria bancrofti @) TRRE e
(2) Ascaris (2) TpRY
(3) Trichinella spiralis @) RRN Wzl
(4) Trichuris trichiura @) mﬁ;ﬁ TSRS
3. Name the technique which is used to enhance I aPG BT AW qaIge ST SUIRT
the shelf life of ‘a tomato - TR BN AH Y B T @ forg foar
ST & —
(1) Antisense technology D) TEET TP
(2) Robertsonian transfer (2) iaSHIET TREwE
(3) Ex vivo gene transfer (3) TIw dial S RO
(4) Molecular farming @) sfas wdt
4. Cell line obtained from human foetal lung LIGCER U] w® m T BRICRE ¥ W9
fibroblast is - PIfEDHT TI8T § —
M L 1 L
(2) Hela (2) HelLa
(3) MRC-5 (3) MRC-5
4 WISH @ WISH
5. About 70% of total global carbon is found in Tl IRaF FET BT AT 70% e
one of the following - # W T | UrRm S 3 -
(1) Ocean (1) ¥ENFR
(2) Forest @) ST
(3) Grassland (}) TN
(4) Agriculture ecosystem @) Tﬁ GRRuR g
6. What is the end product of glycolysis? A DS T BT 3 Sg 7 27
(1) Succinic acid Q) wfFE TS
(2) Oxalic acid (2) 3G
(3) Pyruvic acid (3) URSw I
@) Citric acid @) wERe e
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7. The systematic arrangement of taxa is called — 7.

(1) Taxonomy

(2) Key

(3) Genealogy

(4) Hierarchy

8. A bacterium survives on organic molecules 8.

synthesized by other organisms. It relies on both
carbon and energy sources. Which term is most
appropriate for this bacterium?

(1) Photoautotroph

(2) Chemoautotroph

(3) Photoheterotroph

(4) Chemoheterotroph

9.  What type of microscopy would you use if you 9.
want to get a topographical/3D image of your
sample?

(1) Light microscopy
(2) Fluorescence microscopy
(3) Scanning electron microscopy

(4) Transmission electron microscopy

10. In which cell organelle DNA is not present? 10.

(1) Mitochondria
(2} Nucleus

(3) Golgi apparatus
(4) Chloropiast

11. During symbiotic nitrogen fixation how many 11.

mole of ATP are required to fix one mole of
nitrogen?

1y 12

2y 20

3 6

4) 16

TiE (o) B e waer weed
&

1 affar

2 Joh

(3) dedelt

4) TsIgEPH

apel W S e B Y 3 amEh W
BT ¢ Hoit 1 D Sig @ forg BrR g
21 39 S & I Suge ug @ —

(1) DRRIEES

2 FERiEEw

() WRERIE®

@) TSR

I 3T I T P A RS /357 B
U ST T8 8, O AU 59 yer o
ASHIERIYT FT SYGNT HET?

1) FE AYDIEBG!

(2) URRT AsmrRedr

() WHFT FAEEN TEHRB

@) SR 3AEE ATSHIR)

e BT § gy dive & S 27
1) wEEigr

(2) “gikra
3 M SyHor

@) FARNRE

wEeilal e Redieer ¥ ue A
ESeH B R T & fon A A
UL o snavaear Bidl &7

@ 12

@ 20

3 6

@ 16
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12. Which of the following types require pollinator 12,

but result is genetically similar to autogamy?

1)
2
3
@

13. Redrust of tea is caused by - 13.

@
(2)
3
“@

14. The epithelium found in the walls of blood 14.

Geitonogamy
Xenogaimy
Apogamy
Cleistogamy

Red algae
Green algae
Brown algae

Fungus

vessel is -

1
@
3
C)

15. Where one sacrifies its own reproductive 15.

Cuboidal epithelium
Columnar epithelium
Squamous epithelium

Ciliated epithelium

privileges to promote reproduction in another
related individual, it is called -

frefafae § 9 59 YHR B WEUE B
STEear Bl & oifdrT aiRon JgERe w9
¥ e & w9 Biar 87
(1) FoRgs REToT
) RFEEEE

3) g

@ FINT TRET
=71 ¥ Ys—R< BT ¥ -
(1) el daIE g

() = ¥ gr

@) W Y R

@) HIF NI

G aiferel § uE SIM arel Suwbel § —

(1) EIHR SuG

(2) WYPR SUHel

(3) o YDl

(@) vl SuHer

wT Brs wol s gata welt # g @
ARwfteR &1 @ s g, a9 39 el
T & —

*

(1) Reciprocation (1) RfRERT
(2) Eusociality @) m
(3) Cooperative brood @) wEFE wE
(4) Selfishness @ &
16. Which among the follélwing is not a flexible 16. Fr= ¥ ¥ PI=ar orien A T8 87
learning?
(1) Habituation (1) EuEdERT
(2) Trial and error (2) g w&§ g
(3) Classical conditioning 3) PRrwfafsa ugas
(4) TImprinting @ edHA
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18.

19.

20.

21.

22,

Syngenesious and epipetalous stamens are

found in -

(1) Poaceae
(2) Apiaceae
(3) Liliaceae
(4) Asteraceae

In which of the following family lodicules are
present?

(1) Poaceac

(2) Ranunculaceae

(3) Asclepiadaceae

(4) Asteraceae

In which of the following fishes, the dorsal fin

is modified into sucker? .
(1) Torpedo
(2) Hippocampus
(3) Echeneis
@) Exocoetus
Proximate and ultimate are two ways of -
(1) Interpreting behaviour- ¢
(2) Learning
(3) Innate releasing mechanism
(4) Releasers

The enzymes that cuts DNA are called -
(1) Ligases
(2) Restriction endonucleases
(3) Polymerases

(4) TIsomerases

Which element is related with input domain of
instructional system under system approach of
education?

(1) Teaching strategies

(2) Curriculum content

(3 Evaluation

(4) Teaching support material

17.

20.

21.

22.

RIS 9 Teter ey UIT oIy § —

1) T

2) LRd

(3) forferdsh

@ ==l

oo ¥ & fow go 4 diRw@ g
SR 27

(1) e

(2) Xeergered

(3 T

@ v

Fr=ifeiReT 7 & v 7ol # iy 99 9w
H SUiaRT By 87

(1) <RER

(2) | et

(3 saFE

@) THIRNCH

AT Tl e &) UK & —
(1) U8R F 99=F B

() <Rr™ B

(3 8 W= yomel

@ Relier

ST, BT Hic I TOIEH BEeIN & —
D IS

(2) RgREM ST

(3) diciRw

@ ssErS

Rer &3 § uwell Summ 9 el
RIS FoTel! ¥ 31T geT F B a1 O
wftafer &7

1) REer g wEy

() UTITH]

@) TIwT
4 R aeme gl
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23.  Which of the following statement is incorrect? 23, f=feiag # | i Hom T 87
(1) Coralloid roots have algal zone. 1) PReiss s F HareT &7 B 2
(2) Cortex is not differentiated in coralloid (2) oRelss oe § Pica e =8
TOOLS. BidT 2|
(3) Coralloid roots show little or no (3) PReEES o B A1 BIS BAED
secondary growth. afy wdf I W
(4) Coralloid roots are present in cycas. @) RS TS TEHA ¥ e ol 2
24. Smooth muscle fibres are - 24, &0 oMl & od dg @ g -
(1) striated and voluntary (1) Raa = Rew
(2) unstriated and involuntary (2) 3RRag ger sHio®
(3) unstriated and voluntary (3) oRfaa qerm Vo
(4) striated and involuntary @) Rag o Ffew
25, Which element of the phloem tissue is 25. UeliQH SHA® BT DIFTET JTTT T DILDIAI
composed of dead cells? g i 2 &7
(1) Sieve tube elements 1) e <gd 39499
(2) Companion cells (2) T PRGN
(3) Phlocem parenchyma (3) T R
(4) Phloem fibres @) el BIEER
26. Degree of scattering in transmission electron 26. ¥Rl Sidn GeTas 4 UHoH & A
microscope is a function of - B B —
(1) wavelength of electron beam used 1) wgE goged §19 $1 aRIaed BT
(2) number of atoms that lie in the electron (2) ®gd FageiE U § Rem qwrlgaﬁ
path only B HE&IT BT
(3) mass of atoms that lie in the electron 3) DI sﬁﬂﬁﬁ T § Rerg Wlulaﬁ
path only P TIH BT
(4) number and mass of atom that lie in the (4) solEs uy H Red wwmoRi @i
electron path A= 9 GAAN BT
27. The Montreal Protocol was signed in 1987 27. 1987 ¥ Hifvgad WIIdiel W SWIER $HY 1Y
to - o —
(1) prevent deforestation 1) T B FeE B AP P AU
(2) control the emission of ozone (2) IS BRI TSR B SHAT B
depleting substances e #e1 & forg,
(3) coatrol the greenhouse gases @) W9 oW W 1 FREbE )T B
(4) prevent hazards from radioactive ferg )
nuclear wastes “@ ENEENEN ﬁ::’FIT‘{I TR D Ew
03-© Page 6 of 32 ¥




28. Match the following and choose the correct 28. f=ifeiRaa ®1 @Al Fivw iR ofsfeE
‘option in reference to affinity chromatography- P ® W8 9l fAweg o1 @
] HIfoTg —
' Type of Ligand Target molecule frife o1 R EG 3]
(A) Avidin 1 Coagulation Factors (A) TfafeT i &peq PRG
(B) Proteins A i Biotin containing B) WKEH ASR i SEIRT @
and G enzyme G S IEL
(C) Heparin iii Glycoprotein © =Re i TSP
(D) Phenyl iv  Immunoglobulins D)  fowmerer v gEgregier
boronate ' AT
@ (A)-1v, B)- i, (O -1, D)~ i (1) (A)-iv, (B) -iii, (C) -1, D) - ii
@ (A)-ii, (B)-iv, (C) - i, (D) - i @ (A)-i, B) -1, (O -1, D) - ii
@) (A)-iii, (B) - iv, (O) - i, (D) - i G (&)-iil, B)- v, (O -1, D) - i
@ (A)-iv, (B)-ii, (C) - iii, D) - i @ @-v, @4 OO -
29. Threatened plant species of India is - 29. URA © AHSAW YRy TSIy & —
(1) Crotalaria juncea (1) wicaRar sk
(2) Cannabis sativa (2) Hfsw dfear
(3) Chlorophytum tuberosum (3) TARIBIEEH E‘a@?‘rﬂﬂ
(4) Aconitum ferox @) PFen BfeE
30. Which of the following is not an extra 30. f=feifgg 4 & IR e T A-
embryonic membrane in chick? iR g fRreen w8 87
(1) Yolksac 1) Yo oy
(2) Placenta 2) orer
(3) Allantois @) VoreiEy
4) Amnion @) TRTEe
31. Crossing over in diploid organism is 31. B9 ST #§ @IRT e Fas fog
responsible for - e 87
(1) Linkage () ggd=ar
(2) Dominance 2 wwifar
(3) Recombination 3) mﬁm
(4) Codominance @) aeEwEEr
03-© Page 7 of 32



32. Match the plants given under column I with 32.

their scientific names given under column IT and
choose the correct option —

Column I Column I
Plants of Scientific names
economic
importance
(A) | Groundnut | (p) | Trigonella
foenum -~
graecum
(B) | Fenugreek | (q) | Cuminum
cyminum
(C) § Cumin () | Gossypium
herbaceum
(D) | Cotton (s) | Arachis hypogae

1) A-1,B-s,C-q,Dp
(2) A-s,B-p,C-q,Dr
3) A-p,B-s,C-q,Dr
@ A-s,B-q,C-p,Dr

33. Cadherins are - 33.

(1) Members of Ig superfamily CAM
(2) Ca'* dependent glycoprotein

(3) Neural cell —cell adhesion molecule
(4) Na dependent glycoprotein

34. Functional megaspore in flowering plants 34.

develop into -
(1) Endosperm
(2) Ovule
(3) Embryo sac
(4) Embryo

35. Given the DNA sequence ATTAAGGC, which  35.

sequence would be used by researchers as an
antisense molecule against its transcribed
product?

(I) AUUAAGGC

(2) TAATTCCG

(3) CGGAATTA

4) UAAUUCCG

(A) | e | (p) | gTen

piem I § 37 77 9l &1 diem I # 3y
T I e TE § P sk

faweT o+ —
e I e I
e e @ Y= W H
dig

BigTa—UgHH
®) |%f (@) |9l wafT
(©) |iRT () | gTE
BAREH

D) | PIN (s) | anfdT
HELIRD

1) A-1,B-s,C-q,D-p

2) A-s,B-p,C-q,Dr

(3 A-p,B-s,Cq,D-r

4 A-s,B-q,C-p,Dr
HeeRT B0 & —

1) Ig gRBHe CAM

(2) dieerm ke wEemeH

(3) =X DIRIBT — HIRDT AT 3]

@) sz ke e
guit gl F FEfes TR TRt g
3 _

(1) yordiw

2 dle

(3w

@ 9o
ETAY. T ATTAAGGC &I 384 T,
AEFARl g TG Ueigd S9E &
fiog o ERw o] & w0 H 59 agen
BT IUANT THaT SIQT?

(1) AUUAAGGC

(2) TAATTCCG

(3) CGGAATTA

4@ UAAUUCCG
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36, Which ome of the following is a useful 36. f=feiRag & ¥ BT Gopr SENTRITES
biological indicator of sulphur dioxide U] T U SHANT oI Hdpas 87
p:_ollutlon? @) TR e

(1) Bryophytes
@) Lichens @ e

T "7 (3) Algal blooms () e SREe
«(4) Pseudomonas @) W

37. How much of total global carbon is present in 37. G IRTEG FEa # F fFen qmExe F
atmosphere? Sufverd 87

(1) Nearly 10% (1) oMY 10%
(2) Nearly 5% (2) TN 5%
(3) Nearly 1% (3) T 1%
(4) Nearly 0.01% (4) ST 0.01%
38. Middle lamella of cell wall is made up of - 38. PIfET RRY & wen yelmr 0 SR & —
(1) Suberin 1) IR
(2) Pectic substances 2) ufees gl
(3) Cellulose 3 -@,W
(4) Lignin @ fafas
39. Which of the following element is not related 39. A=fiRag & ¥ B9 HEd AUTT TF I
with communication cycle? wrfae T8 87
(1) Source () =
(2) Message (2) W
(3) Cognition (3) M
(4) Feedback @) m
40. The periderm includes the - 40. uRsH ¥ afEfaa & -
(1) Cork 1) T
(2) Secondary cortex 2) fgius sicaa
(3) Cork and secondary cortex (3) o dR fdue ade
(4) Cork cambium, secondary cortex and @ T BRTH, e PEw iR
cork P
41. The rod cells of human eye contains a 41. Mg WF $ bl HILDBH F TIT M
photosensitive protein called - IIE YBTRT AT WIS HEART & —
(1) Rhodopsin 1) Seiftas
(2) Actin (2 ufdeT
(3) Myosin (3) wrEafaa
(4) Troponin @) stE _
03- © Page 9 of 32

|




=
42. The scientist who propounded the concept of 42. 3EIHA 3 Rigia @1 9w &, Elf’?f
imprinting - Jsive & —
(1) KonradLorenz (1) BFRS dNS
(2) Karl Von Frisch (2) @il A9 fber -
(3) Niko Tinbergen Q) By gl
(4) Paviov @) U
43, Larvaof obeleais - 43. 3iEferr o1 et 8§ —
(1) Parenchymula () TR=HEHA
(2) Planula (2) Temden
(3) Scyphistoma 3 Rl .
) Veliger ‘ @ A -
44, Which of the following is not the element of 44. Tr=faRad # & Bi=ar Reror wikwE F1 T
teaching model? &l 87
(1) Focus M) wx g
(2) Syatax @) Al
(3) Social system @) wERE o '
(4) Creation @) T
45. Which of the following is not the correct 45. Fr=ifeiRaa § & wivar g &R e @
principle of growth and development? &I Rigia =& 87
(1) Growth and development are the (1) fafg @ fooN, demgsa o
product of heredity and environment ATEERT & W g /9w &
(2) Growth and development occurs from @) PRy v R amr § Rl ]
general to specific & aiR =T &
(3) Development is compensatory @) fem Hhws 27 2
(4) Development is correlational @ R - Yt 2

46. Monarch and viceroy butterflies are the 46. #® 9 dEwN ™l o SamRT

example of - & -
(1) Parasitism (1) oS & -
(2) Mimicry 2 fafssr o
(3) Competition (3) et &
(4) Symbiosis 4) <Eogd &)
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47. What is the source of the restricion 47. INgFIT TSIRIYST T=AEH Eco RI &7
endonuclease enzyme Eco RI? | @y 87
(1) E.coliRy 13 (1) 3PS Ry 13
3 2) E.coliR1 (2) 3 PR RI1
- (3) E.coli RI113 3) < P RI13
(4) E.coliRx I3 (@) . P Rx 13
48. A primary strategy for appeasing a potentially 48. I8 WIfAE WAy Red d9wlRd w7 o
aggressive individual or partner by presenting JHHE AR MRMAT 3 AfH & HISH
food is called - UHJd PR @Tﬁ B W S g,
BEATT & —
(1) Courtship feeding 1) SRR R
" (2) Parental feeding (2) N HifET
(3) Commensalism 3) EERET
(4) Mutualism @ TRERT s
49. After ovulation graafian follicle changes 49. fSHERET & BRI plEEE Eﬁ?ﬂ gRafia
into - & WK B —
X (1) Corpus artesia (1) w3 §
(2) Corpus albicans (2) oI Uegmy #
(3) Corpus callosum 3) I daAEd §
4) Corpus luteum @) Fig F"I%"m 3§
50.  According to Kolesnik, what is the age range for  50. ®iiiFe & AR, FaRm@en o1 mg
adolescence? Plel a1 87
(1) 11 year to 13 year @ 11999 1399
(2) 12yearto 15 year () 12999 1599
(3) 12 yearto 14 year @) 128 1498
4 12yearto 18 year @ 12a% ’@r 18 af
51. Which of the following type of thinking is 51. fo=ifoiRaa & & ofwar s & yoR o4
related with Concrete Operational Stage of Jean s R wow g <ifbaee sEen ¥
Piaget? R 87
(1) Intuitive thought (1) o F
(2) Deductive thought @) P fE
(3) Inductive thought (3) AT [GER
(4) Sensory motor @) WA TS
03- © Page 11 of 32




52. A fisherman is weighing each of 50 fishes. 52.
Their mean weight worked out is 50 gm and a
standard deviation of 2.5 gm. Later it was found
that the measuring scale was misaligned and
always under reported every fish weight by 2.5
gm. Find the mean and standard deviation of
fishes -

(1) 525,25
(2) 30,5
3 50,5
4) 485,25
53. Choose the correct sequence of invasion - 53.
(1) Migration — Aggregation — Ecesis
(2) Ecesis — Migration — Aggregation
(3) Migration —> Ecesis — Aggregation
(4) Aggregation — Migration — Ecesis
54. Which of the following is an incorrect 54.

statement?
(1) Carolus Linnaeus recognized 24

T AGRART 50 ABferdl § ¥ YAS BT qoH

PR <@ & Sh g 9o 50 UM 3R
AMe e 2.5 UM 81 91§ § I8 TR T
& AU & J9F Y Tod S § Y@ Tl
off iR BN UAP A0ell B o 3 2.5 TM
2 A TS B 7S o | woleral &1 ARy @ik
AMG fqae Slid Hifo —

(1 525,25

2 30,5

(3 50,5

4) 485,25

e (gFTaa) @1 Hel B g —

(1) WaE — THADT - IJRATT
(2) IIRUNT — YA — THADRT
(3) YA — IRATT — THADT
@) THAEGRU — YIH > FRATA

FrfoRaa 3§ 9 PRI FF o 87
1) e fafem 3 o I G,
PN AR 9" & A®R W 24 T

classes on the basis of the number, size T T a7
and union of stamen. (2) <RI @R 1753 ¥ weiive g8
(2) “Species Plantarum’ was published in off | ‘
- de& ) tered dath ) TSTE B AP DT BT
anson is considered as grandfather .
JswIgR AT STl
of numerical taxonomy. @ R e'ﬂé\’ Gﬁﬁf%éflm -
(4) ‘Systema Naturae’ was written by T &
George Bentham. I
55. Which one is mismatched among following? 55. f=ifoReg & @ == @ gafera =8 87
(1) Humus - dark, finely divided, 1) TEd - TR, ged e,
amorphous organic AFTFaEY BEFT
maiter qgRl
(2) Duif - partially decomposed Q) TF . it Wy 9§ fufE
litter T
(3) Podosols - highly fertile soil 3) teEd - 3:@@?5 TS e
@ "AREEE - P9 UAgE @9 e
(4) Mor - formed at a low pH ( )
R a1 B
humus (below 4)
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y 56. Which of the following Psychologist is not

FrfeRen % @ #F9 TR awfe

related with research on emotional intelligence? & Tl agEarl ¥ 99 §v T 87
) (1) LP.Paviov (1) <EW. wEey
(2) Daniel Goleman 2 PR T
(3) Mayer (3) TR
. 4 Salovey @) AT
57.  'Which of the following is used as a carrier gas  57. 9 Ry § F=lkiReg § 9 fhagr
in gas chromatography? SUIRT a5 T @ wU § ey s 87
(1) Carbon dioxide (1) oE9 SEefiEEe
(@) Oxygen (2) Sifedo=
(3) Hydrogen (3) TESIOH
(4) Methane @ Ao
58. 'Who was the father of Educational Psychology? 58. frm a-iRsm @ fame 25 o7
(1) John Dewey 1) <t Si@
(2) E.L. Thorndike 2) Tya. oifsEs
(3 Galton 3) eeA
(4) Ebbinghaus @ uRTEr
59. Paddy thrives well on - 59. o 3=l TRE W GG § —
(1) Alluvial soil (1) vee TR
(2) Stony soil (2) TR &1 W
(3) Clay to clay loam soil @3) Rt § 3R e 59 W
(4) Sandy soil @ T | R
60. Which of the following is the Science of 60. =fifRad § & BT golal & eifeHwor &
classification of living organisms? wefea fasm= 27
(1) Nomenclature Q) TSl
(2) Taxonomy (2) affe
(3) Physiology B) PR,
(4) Agronomy @) = RsmE
61. The refractive index of air is - 61. T BT UGG BT & —
(1) 0.50 (1) 0.50
2) 2.00 2 2.00
3 1.00 3 1.00
@ 175 “@ 175
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62.

63.

64.

65.

66.

Qil immersion objective lens has a numerical 62.

aperture value (in practice) of -
) 0.15
2) 005
3 14
4) 12.0

Which is a correct set of characteristics of an  63.

Annelida?

(1) Radial symmetry, coelom absent,
segmentation present

(2) Bilateral symmetry, coelom present,
segmentation present

(3 Radial symmetry, coelom present,
segmentation absent

{(4) Bilateral

present, segmentation absent

symmetry, pseudocoelom

Which of the following does not come.under the  64.

scope of Educational Psychology?
(1) Heredity and environment
(2) Individual differences
(3) Telepathy
(4) Learning process

Who was the propounder of behaviourism? 65.

(1) William James
(2) Wilbelm Wundt
(3) John Dewey

(4) 31.B. Watson

In mature proglottid of taenia, a small rounded G6.

chamber formed by the union of oviduct and
vitelline duct is called -

(1) Vagina

(2) Ootype

(3) Ovary

(4) Common gonopore

M (A9ER #) 8ar'es —

@ o015

(2) 0.05

3 14

@ 120

Pferer & el 1 WEl Ve BT 87

1) NE T, AeE gaRem,
I SuRerd

@ fRwed wafEm A SuRem,
WShae SuRerd

3). ofw wufm, AW 9uRem,

@) fRud wafa, o UEr SuRerd,
ST U

frefeRa & 9 Sar Ren wieeE @

(1) dETIHT T AR

(2) = =

(3) uRfea 5=

@) =REH uishan

TIERAIE P Wadd DI A7

(1) faferaw o/=a

(2) Tawew ge

@) S

@ <iE. diews

Sfrr & uRueg areifes § msaRl 3k

e iz @ 9 W) F BT MA B8

fafifa i &, FEemn © -

O @t

(2) SerRY

(3) 3R

@ wgF o R

L]
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“67: Which of the following is not the type of
Computer Assisted Instruction?

(1) Informational computer assisted
instruction

(2) Tutorial type computer assisted
instruction

(3) Educational games type instruction
(4) Stereotyped instruction
68. The set of ecosystem is called as -

Pra (1)
(2) hypersystem
(3) biome
(4) pluroecosystem

climate

69. Which of the following is not the characteristics
of emotional development during adolescence?
(1) Hero worship
(2) Opposite moods
(3) Feeling dominated life
(4) Narcissism

70. The phenomenon of incomplete dominance was
first time observed by -
(1} de Vries
(2) Carl Correns
(3) Tschermak
(4) Sutton

71. The thickness of the ozone in a column of air
from ground to the top of atmosphere is
measured in -

(1) Pascal
(2) Bar
(3) Particulate Matter (PM)
(4) Dobson Units
72. Which of the following have rich biodiversity?
(1) Arctic forests
(2) Temperate forests
(3) Coniferous forests
(4) Tropical rain forests

68.

69.

70.

71.

Frfeife 4 ¥ o W FgR WM

ST BI-UBR & 87

(1) ETEE FFISR BRI IRIH

() <YERIA THR B R TN
SRR

3) WP T B TR BT A

@ wfeag YA

TRTA $ W P BEd & —

1) weay

(2) BEWRREH

@) @M )

@ wRiEPRET

Frafafea § 9§ S fForEer @ k=

e ey 7 Rrdwar =187 87

(1) IR gow

(2 fRER s

(3)... WG 9 Sl

@) iR ()

dq] yeifar @ uR™edr wdwed oW

TE —

M) S NS g

(2) Bicl PR ERNT

(3) RPN

4) ¥cd ERT

e W ggFse & R 9% @ 9y we

(iem) & sl BT AieTS A ol ¥ —

b

(1) Upe H

(2) "R ¥

() uidsee dex (@ aw)
@ Sfaaa e |

.. Frefeem 4 9 @1 Srafafea wrg 27

(1) STR® T
(2 e 9
() <G I
(4) SwHleEH aut a9
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s

4

/
frfafad § W B W AR GHAid)

73. Which of the following is not the kind of 73. E
software technology? &1 YBR ol 87 !
(1) Behavioural technology () IR qH-id]
(2) Instructional technology ) 31'3’33!? THINE
(3) Teaching technology @3) REw e
(4) Relative educational technology @) i M aeE
74. How many biogeographic zones are there in 74. WRd ¥ fvaw Wi — Wimfed a3 &7 "
India?
1 10 a1 10
@ 5 2 5
3 15 3) 15
@ 20 @ 20
75. A totipotent cell is - 75. TP YU BILDBT B 8 —
(1) active in organogenésis only (1) Haa g | Al
(2) capable of tissue formation only (2) ad Seaw A § wem
(3) capable to develop into whole @) <ol oha § Rt o= 3§ wem
organism @) P g e F e
(4) capable of flower formation only
76. Which of the following is not an abiotic factor? 76. FrifeiRad # & P snifas RF <&l 87
(1) Temperature (1) T
(2) Water @) ©id
(3) Plants (3) Uy
(4) Soil @) T
77. In two neighbouring cells A & B — 77. € - e Bt A 9B # -
Cell A has osmotic potential of —20 bars and HIRGT A F IRRNoT g —20 4R 8IR g6
pressure potential of 10 bars, whereas, cell B g 10 9N 2, Siafds ST B H RN
has osmotic potential of —16 bars and pressure AT —16 TR 3R €6 WT 49R & TR B
potential of 4 bars. The direction of flow of vare @ e a8rl -
water will be -
(1) From cell Atocell B (1) SR A & BRI B
(2) Fromcell B tocell A (2) SIRE B ¥ BIRGT A
(3) No flow of water (3) UF B Yarg T8l s
(4) In both directions @) <= el ¥
03- Page 16 of 32




73. Which of the following is used as a weed 78.

killer?
@M 2,4-D
\2) IBA
3 I1AA

1

4) NAA

79. Matich group I and II correctly and choose the 79.

correct option —

Group I Group II

(@) Vegetation of (i) Cressa
sand dunes in Cretica
Rajasthan

(b) Vegetation of (i) Euphorbia
South and South Caducifolia
Eastern region in
Rajasthan

(¢) Vegetation of (iii) Bauhinia
saline lake region Puarpurea
in Rajasthan

(d) Vegetation of (iv) Calligonum
hilly and rocky Polygonoides
region in
Rajasthan

The correct answer is -

@ b © @

@ G @ 2 G G

2 G) @G v @

@ (v () @O @)

@ (v @O  G) (D

80. Select the correct pair - 80.

(1) Plectostele — Lycopodium
serratum

(2) Actinostele — Lycopodium
clavatum

(3) Mixed Protostele — Lycopodium
cernuum

(4) Amphiphloic
siphonstele

Selaginella

e § P ERIGIRERT & S H ugE
BRI 87

() 2,4-D

(2) IBA

3) IAA

@) NAA

HE 1Td 1157 98 el 6l §Y |l SR
BT TG BT —

g 1 TRl

(2) <Torer # G) o feiesr
ST WA B
geef

(b) ToIE H (i) gwifdar
gleror 9 BgRrmiferar
gferorgdl arT
EHRCE R

(c) ~IoT®I H (iij) <ffefrEr
AAURI St TREYRAT
& B TTE

(d) ToTeRIe H (iv) DferH
eI g FgMl gierHsed
g P aerfe

el 9N ' —

@ ® @ @
@ G @ G @

2 Gy Gi) G @
3 34w G @ 3
@ v @  G) 3G
& T T =TT BN —
Q) Uz — AEHEISEd
INeH
(2 T W — AEPEISTA
FIIEH
@) RBBE I - dEeuRyH
Eul HTH
@) ST — Rl
TeRY
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81. “Heat— Shock” gene obtained from Drosophila 81. SNEIf%aT ¥ Wi & vifs” g BRY o9 4
which has been introduced in tobacco. plant is - ey # wifiq fobar oy & —
(1) hsp 6871 (1) hsp 6871
(2) hsp70 (2) hsp70 /
(3) hsp60 3) hsp 60
@ hsp 90 @ hsp90 ,/f
82. Clamp conrections are found in - 82. &Y SN U W & — /
(1) Phycomycetes (1) wEPHEERES ¥ ’
(2) Ascomycetes (2) THEERkdY A
(3) Basidiomycetes — Q) RREEREN 3
(4) Deuteromycetes . @) gm% F
83. Which type of infloréscence is found in 83. IwIfdem § wer UEHH RIT Tl &7
Euphorbia? T 1) ovIP
(1) Umbel 2) TR
(2) Corymb 3) PR
(3) Cyathium @) TR
(4 Hypanthodium
84. 'Example of mesogamy is - 84. HHUIY BT SAET & —
(1) Casuarina 1 HFRAr
(2) Cactus 2) dE™
(3) Cucurbita @3) @ﬁa
(4) Lily @) fofer
85.  Which of the following scientist suggested that 85, frifeiRad # & fra denfie ¥ gema R
complex organic molecules were important for & vifetq sEfFT am) Shaq & Sy @
origin of life? ferw eIl 97
(1) Van Helmont (1) @ e
(2) Oparin 2) aRe
(3) Pasteur (@) TR
(4) Redi @ &
03- © Page 18 of 32




6. Which one of the following statement is not 86. ffifed # & @F=ar FoF WE w6l

correct? =14
(1) In psilopsida roots are present. (1) gt ¥ o9 SuReE St 1
(2) In sphenopsidd, antherozoids are (2) HaasT # gAY SEHAHD Sl
multiflagellate. gl

(3) ftger # avur okl § gmskom
o, vy T oI &
@ wnseftaer uedi ¥ S

(3) In pteropsida, young fronds are

\ circinately coiled.

4) * In lycopsida plants are homosporous or serar R ETIGTE{I s . S
heterosporous. 2
87. Resolving power of microscope is a function 87. Wﬁ 2 fdeT a9 ol © —
?if)u Wavelength of light used : @ ST U Bl qaTRE &l
(ii)  Numerical aperture of lens system (i) o Yomel @ ERIBeT AR BT
e & ¥ BT /9 S 9 B /87

Which of these statement is/are .correct?

(1) DIl F2F (1) §8l &
(2) Pgd B (ii) TE &

(1) Only statement (i) is cosrect

(2) Only statement (ii) is correct

(3) Both statements (i) & (ii) are correct (3) < P () IR (i) W §
(4) Both statements (i) & (ii) are incorrect @) <P () sk ) Ted §
88. Which of the following is a demse regular 88. = i & ¥/ wem i dae as
connective tissue? {4
(1) Areolar tissue (1) TReeR &a%
{(2) Tendons 2 o e
(3) Skin @)
(4) Adipose tissue @) RU TaF
89. The rate of photosynthesis is maximum in - 89. WY TN B T¥ IferHad sl & —
(1) Yellow light 1) b g A
(2) Red light IGIEREK
(3) Orange light 3) N uerer |
(4) Green light @ =W uE A
90. Which of the following is a synthetic auxin? 90. fr=ifiaa ¥ & siar diere i 87
(1) NAA (1) NAA
2) IAA 2) 1AA
3 IBA (3) IBA
4 GA @ GA
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91. Aristotle’s lantern is an example of which class 91. ‘3R] 1 dTelcT VPiRISHSl & 5y

of echinodermata? BT SIENT 27
(1) Echinoidea - O vEEARREm
(2) Ophiuroidea Q) afrh‘vg?’lsﬁm
(3) Holothuroidea 3) g‘m‘l?:lﬁgm /
4) Asteroidea w @) TEIEET
92. Which of the following is a demerit of the 92. Fw=ifefem ¥ ¥ @Fa Grer W Ueer
‘Engler and Prantl’ system of classification? BT WoOIell T Sy 87 /’f
(1) Dicotyledons are placed before D) BATEN 3 vrdeod § uEd T
monocotyledons. ST B
(2) Dicotyledons are placed after 2) RIS o vrdoa=h & 9 @
monocotyledons. ST &
(3 Gymnosperms are placed among 3) R 31 RS @ g v
dicotyledons. & ST 2

4) Gymnosperms are .. placed between .
@ Cymaosp P @ Rrdert @ Rl ok

dicotyledons and monocotyledons.

THESTTAT & e @ ST &
93. Which of the following can be separated by 93. Fr=fafeg § & smEUlwR® dfwEeF
isopycnic centrifugation technique? Tpeils §NT Y ST fhar o7 wear 27
(1) Soluble protein 1) go=TE N
(2) Soluble enzyme 2) Yol doigH
(3 Both (1) and (2) 3 @R @) <H
(4) Subcellular organelles @) SUBRET HIRREHET
94. Which of the following enzyme is associated 94. =ifeia # & e Yomgy wIwitg
with the inner membrane of mitochondria? P sfial® fRreel ¥ daftag 27
(1) Fumarase (1) T
(2) Succinate dehydrogenase ) IRIFT IEESIvFES
(3) Monoamine oxidasé 3) M i aifedi S
(4) Kynurenine hydroxylase @) ﬁ,—.ﬁ-ﬁq g,g;ﬁﬁz\qa—q
95. Which of the following is not the objective of 95, Fr=iferRaT # & i aFR® TRy RgH
mental hygiene? - BT VeI TEI 87
(1) Realization of own potentialities (1) 3O IFTATHTAT BT AFAT BT
(2) Maintaining good mental healfh (2) =0 WIS TR BT IR0
(3) To increase the intelligence of child (3 EF B gE B geFT
(4) Prevention of mental illness @ AFRE SRET &) e
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\
96. In SDS-PAGE, the protein sample is first< 96, SDS-PAGE-#, Wi &1 et wdyerd —
(1) Treated with a reducing agent and then (1) TF ITEANF BRE D G ST=IRG
with anionic detergent followed by TT Tl & S R smafs feste
! W WG JEpIRIae §RT
fractionation by electrophoresis. szrifera fbar S/ 21
(2) Fractionated by electrophoresis then @) - Q_@gﬂ E#WUH;T R 1
treated with an oxidizing agent 51 AT & Re e onaEr
followed by anionic detergent. %EGT:«:’ 9 {’Tﬁ”ﬁﬁ gl B |
(3) Treated with an oxidizing agent and ©r E%Z.n qoiE & AR
ST & SR R U O
then with anionic detergent followed feesie B I GECNG]
by fractionation by electrophoresis. \_angil I;%I ]EII R BT st o
(4) Treated with protease then fractionated @ wiRTy & Wl SyEiRg ofiv fiR
by electrophoresis. w BN SfEifea fHar
97. The gene interaction, in which one gene masks 97,  SiIFl SIIHRTT et v S sgmfase
the effect of non-allelic gene is - WM T T919 AP BR QT 8, HEARn g -
(1) Complementary gene action 1) -\chg%‘ oW o
(2) Supplementary gene action (2 T oA far
(3) Epistasis () v
(4) Dominance @) T
98. How many true breeding pea varieties were 98, HUSE © FNI WX P gy P fhaar agy
selected by Mendel? Yo WG BT Ia+ (6hdr T oar?
a 7 n 7
2 10 2 10
3 12 3 12
@ 14 @ 14
99, Which of the following statement is correct? 99, = § | P FUT A 27
(1) Chromosome can be stained by (1) HEEE P Ao gRT AR
safranin. fFar ST 1
(2) The chromatin material which remains. Q) HaRA wwe W e dufe
in highly condensed state is called s ¥ B &, YHEfed b
euchromatin. 8
(3) Basic slructu.ral unit of eikaryotic 3) m TR s i FE D
& ety pot o shromosome i Tl e 8
called satellite. @ T e
.13 FEAMT © |
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100. Sitamata Sanctuary is known for - , 100, ¥Rt IR R & forg ST St 6??

(1) Tigers 1) wmw % o /
(2) Crocodiles (2) WIS & v

3 hfligrator’y birds (3) vard uRmEt & R f

(4) Flying squirrels @) e froed & By ,

101. The natural aging. of a lake due to nutrient 101. UN® IHEHROT & RO A o Wplkie

environment is called - el U9TG Heelial & — A
(1) Bio magnification ' (1) 3T A ’
(2) Eutrophication @) TEifhdTE (guo)
(3) Algal bloom: o @) St TREET
(4) Deforestation - @) El’rﬁ-‘ﬁﬁ?

102. Fusion of oné nucleus SThe pollen tube and 102. RIS b Irwd AT FSY B freirre
secondary nucleus of the jovum results in the B D dade gRT REfg g & —
development of - At

(1) Stigma (1) aRiem
(2) Endosperm (2) Yoy
(3) Anther 3) WY
(4) Stamen @) PR
103. Some enzymes have cofactor bound to its 103. FB THIEH & UIEH 9N § GEHRS 99 B
protein portion. This protein portion is called - g IT NS 96T el & —
(1) Prosthetic-group o w=fes T
(2) Coenzyme (2) HEUEd
(3) Cofactor @) TEIRD
(4) Apoenzyme @) TOSTEE
104. Glutaraldehyde used during electron 104. IOEI AFHD & SRFE WA 5
microscopy is a - S 91T TERESEISS Bl & —
(1) metal 1) =g
(2) fixative 2) uF (Rer®)
(3) developer . (3) TR
(4) dehydrating agent @) Frefdeer we
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105. Bt Endotoxin Cry Iis active against —

@
@
(3)
@

Lepidopterans
Coleopterans
Hemipterans

Hymenopterans

105. thvsﬁaﬁ'm quﬁﬁﬁ\e{mﬁ\am

® »

106. The cotton fibre is obtained from which part of 106.
the cotton plant?

)
2
&)
@

at -
(1)
)
&)
@

Root
Stem
Leaves
Seed coat

Leptotene
Diplotene
Pachytene

Zygotene

107. Formation of bivalents during meiosis occurs 107,

108. Type specimén selecied from the original 108.

material in case the holotypé is missing, is
called as -

®
)
€}
@

Isotype
Lectotype
Neotype
Topotype

109, Which of the following cell organelle is 109,

essential for photorespiration?

W weeE

7)) aﬁsﬂm@m’“ P

(@) R o T

@ EEFeE -
a%?@rmma%d%ﬁ%famﬁmﬁ

Wi B &7 f

M w8 %’ :

he
e

i =

w4y

El

(2) W D
@ R : N
) %'I’ﬁl’ana'\mr o :
A Ry e o oo
. mi{g}m%? 1 |
O wSEm .
@ F<dm "* :
) ﬂ?ﬁéﬁ ;e oard '
@ GETI’F:“H W 0
= E’fE-hElgq m E‘f 'ﬁ\‘ q:{'r e _q
P T €
- L
(1) R, “ 5 ‘=,
@ R .
(3 fwaesy - n:,,,. :
(4,) m ! T :

ﬁﬂﬁmﬂﬁﬁaﬂawaﬁmmmw
aﬂ%i‘zamw%? RS I

y I

(1) Dictyosome 6} m e,
(2) Peroxisome @) RefdEw . ‘:}
(3) Endoplasmic reticulum @) sFamEal B b
(4) Glyoxysome @ 5§ ﬁmﬂ} fﬂff )
n- ) I ’ .:::1_ 'ELV -
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110. Carpospore of Polysiphonia is - .o 110.

(1) Haploid '
(2) Triploid -

(3) Diploid

(4) Polyploid

111. In cockroach, the two lateral side of head below 111.

compound eyes are formed by -
(1) Epicranium
(2) Gena
(3 Clypeus
(4) Frons

112. Which of the following is not the levél of T112.

Piaget’s theory of Moral Development?
(1) Moral realism
(2) Moral equality
(3) Moral relativism
(4) Moral idealism

113. Which of the following Teaching — Learring 113.

material comes under the projective category?

(1) Bulletin board

(2) Film strips

(3) Poster '
(4) Chart & figure b

114. Under suitable conditionis the slime mould form 114,

an aggregation called - ‘
(1) Spores !
(2) Dikaryon  raev
(3) Plasmodium
(4) Mycelium

Hiehfmifrar &1 FuER & —

(1) srfer

2 P

@) el

@ g

AN} BT AT o & -

(1) vimiEE

(2) o

(3) wEEIEY

@) B

e 3 & s o @ S Rem
Rrgia o1 ww & 87

(1) AR gemeiar

(2) e |AmFar

(3 i e

@ -faF evar

frefoiea & @ o frer - s
el gl AN B 9o & ol e
2

1) gefeT =g

(2) fen ufzf

(3) U

@ =ne e fom

e IRRRIRET 7 s@ds Fad g =
AT T FEARH & —

1 S

@) FEHTH

() IS

() FHIHoT
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115.. Which of the following is not- the basic 115.
assumption of cooperative learning?

(1) It makes teaching - learning, subject
centered and teacher — centered.

(2) It believes that students learn only
when they get opportunities to learn in
a competition free, worry free,
collaborative environment.

i (3) It expects students to take intiative and
choose their own learning path.

(4) It emphasises on acquisition of
learning through meaningful
interaction rather than lecture or
demonstration method for teaching
learning.

116. The highest DDT concentration in aquatic food 116.
chain shall occur in -

(1) Eel

(2) Seagull

(3) Phytoplankton

(@ Crab

117. Phaosome in Pheretima are - 117.
(1) Locomotory organ
(2) Reproductive organ
(3) Lens
(4) Buiccal receptor

118. In bisexual flowers, maturation of gynoecium 118,
before androecium is known as -
(1) Protandry
(2) Gynandrous
(3) Dicliny
(4) Protogyny

119. During résting state of muscles, the active 119.
binding site for myosin on the actin filament is
covered by which of the following?

(1) Tropomyosin
(2) Troponin

(3) F-actin

4 ATP

ST % 9 B @ weary afrT @)

ST AT 81 37 “

O = Rew aRrM o) wisa T
IS Birgd ST B

2) ¥E 39 99 «® o st & &
wuk%ﬁﬁwawﬁmm
¥ T B R |

(3) uE e 9 ved e SN
e Ant R E 1 ST el
=

@ ¥5 REer afrE g I srEn
wee fafr ot arer wrefw ofa: fasar
BRI ARFTH 3761 O% 96T ]l &1

m@ﬁa@mmﬁwzﬁﬁ‘aw

Eﬁjﬁ_ ~f

@ s@F

(2 9ra A

(3 YRy waF q

@) Dol H

A § daldm & —

(1) THEET

2) AT

(3) <0

@ g9 el

syaferl wel d JRmM 9§ usa

i

»
i

(1) gy p
(2) gom
3),, Rfert

@) @ﬂqﬁm .

Iﬁsﬁzﬁf&mwﬁﬁﬁﬁ@mﬁﬁaﬁﬂ

T\Tfa’a-‘rﬁgerﬁq'\’ﬁ@ﬁ:fw Tt wfa
! Rt BY e @ 87 27

O gumERE ..

@ FafE
3 foﬁ'rea' .
@) EAET o

a3 ] r
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120. Which of the following is not a part of innate 120, Freifered 3 & ?'rﬁ?l'\‘:n TG EI'I?I'\’&%T BT
immunity? , e =8 27
(1) Acid of stomach (1) I RE &
@ Siliva 7 * e @ @R
® Teams ot ® s
(4) VaCCine : (4) ﬁiﬂﬁq
121. Whichof the followmg 1sasecondary lymphoid 121. Fr=fifea § ¥ @ww Rdws afrem
organ? " } 3T 7
(1) Appendix- 1 RS
(2) Liver "~ | 2 =Fq
@) Lungs - ﬁﬂ 4) BIRH t t
122. As a parasxte ‘in human Ihe final or fourth 122. #9 # Welldl & WU § YwbRa Eﬂ’ﬂf o
moultmg of ascaris Iarva takes place in - iR g e el Bar & -
. % . [T
(l) Intestme ? B (1) argH
() Lungs: " 2 B |
(3) Live[ " :,' (3) Wﬁ‘ ﬁ .
@ Soil ) @ .
123. Which oné of the following statement is 123. Fr=ifaRag ¥ § T T2 T '3? .
coftect? s (1) < g9 SEM F7 iEeREH
(1) The herbanum of _Lloyd Botanical SR ¥ e #1
Garden is located at Dehradun 2 3T TN SR Beea
(2) The Ceritral Nafional Herbarium is Rerg 21
. located at Kolkati. : @) Yua TIwly SuM $1 g4REH
(3§) erbant:dm o; Roy;l ll.3k0tamcal Garden <paifes ¥ Rera 21
;. islocatedat New Yo | . @ 5 & S -
@) Herbarium of Natxonal Botanical e & R 2
* Gardenis located it Shlllong
124. Wh:ch of the followmg set is of 124 F=foRaa # & wFww T
Bpmdomycetes" | : * ) sRifearmEfaeS &1 87
1) Asp_grglllus. Clavice ceps, Neurospora (1) VERRIEE, FerdRis, <RRART
2) Hallotls, Cypraea Murex (2) T, wreh, ‘gifﬂl
3) \Pgarlcu_s, Ustilag ;,Puq01n1a (3) TIRSH, e (@s), RERIIR R
(4) Mucor, Rhiizopus, Albugo - @) ER, VI, degn .
s S -
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125.

Find median from the following data recorded 125. WRY well SIS @ W&IT W T Afofaa
on number of seeds per pod — Jipe] A ARTST F HIY —
5,19,42, 11, 50, 30, 21, 0, 52, 36, 27 5, 19,42, 11, 50, 30,21, 0, 32, 36, 27
1 25 1 25
2 27 2y 27
3) 28 3) 28
P @26 @ 26
126. The terminal |buds of tea plant which are 126. =g & W F LSRR Hiomsy W angiRs
commercially | most valued are commonly w9 4§ 9ais Jeaad el 8, 30 Mol Wl
referred as - - B
(1) Golden Tips 1) TeeT 2w )
(2) Orange Pekoe . @) SR e wt
(3) Pekoe 3) R fge 2
(4) Congou @ aﬂﬁ’@ﬁg . 5
127. The most important factor affecting the climate 127. e tﬂ_{j@ ,STearg B YT BT arerl
of an area is - Y AFTEYC] FREF © —
(1) vegetation O ICEEIG]
(2) latitude (2) ey
(3) longitude (3) IR
(4) exposurelof the earth’s surface, @) @ ) IS BT IR
128. In humans, egg is liberated from ovary in - 128. 999 ¥, 3iSTey ¥ IfSTv] gad BT © —
(1) Primary oocyte stage 1) vrRfE R smawen §
(2) Oogonial|stage @) PR JEer i
(3) Secondary oocytes stage 3) s %—qm argeer §
(4) Graafian follicular stage @) I it raRen 3
129. Gibbons, Chimpanzee and Gosilla are grouped 129, fra=a, Rrdsll o MiRewr & 5w wg A
into which of these? AT AT 87
(1) Prosimians @ o
) Catarrhinai (i) PERIFT
(3) Anthropoides 3) TRy
(4) Platyrrhina @) O
130. In chick, which one of these acts as embryonic 130. =1 # & B ol ¥, YU AT & FAH
urinary bladder? PRI B &7 .o
(1) Amnion (1) ufEEE
(2) Chorion @ TREE
(3) Yolksac @) dxe o ‘.
(4) Allantois @) UdeiEw.
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131. In mammals, cells which secrete dentine 131. Il o I PINENT S ST B G
are - Eacil-E
(1) Dentoblast 1) SRS
(2) Odontoblast ) JSrrRae
(3) Osteoblast () R
(4) Ameloblast 1 @) AR
132. Inhuman heart tricuspid valve is present - 132, 979 g59 d Pgert sure suRerd grwr
(1) between left atrium and left ventricle g—
(2) between right atrium and right D I3 snfele a7 91 e & =7
ventricle @ T s T <R Few B e
3 :;:;:en venfricle mz;nd pulmonary @) frewr @ — e o T
(4) between pulmonaty artery and: aorta @) TIEHRE g TR AR B A
133. Tn which of these lakes of India, the World’s 133. R &1 B9 @ it ¥ Rea &1 v dvar
only Floating National Pafk' is located? Tl UG ST 87
(1) Dal lake 1) sa N
(2) Shilloi lake Q) BeE e
(3) Lake Tsomgo @) < e
(4) Loktak lake @) deas e
134. The blastula formed in human embryonic 134. #7™ & WRM % IRE T a0 BRF B
development is - ; FET T —
(1) Blastocyst i 1 Elﬁ??ﬁg‘c?[
(2) Coeloblastula ) ;@,ﬂw
(3) Stereoblastula (B) TTERG
(4) Discoblastula Iy @ faers
135. Which of the following characteristics is not 135. FreifoiRaa ¥ ¥ @il fdrar GCRIRED
related with Information Processing Model? Y diea 9 wwaferg 78} 27
(1) Handle the stimuli found from 1) TIEERY A U SOSIdl B GHE
environment % forg
(2) Organizing the data material @) "= ?TI'HEﬁ BRI W & forg
(3) Using verbal and nonverbal symbols ) m v SrElite® Fovet & Sl
(4) Emphasize on relationship with @) TS D Gy g9 W g o @
society ferg
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136. Which of the following is not a technique forin 136, frefofag &9 @9 @@ Cﬁ?ﬁﬁﬂ?ﬂ E]
situ conservation of biodiversity? TRIM YT T T8l 87
(1) Botanical gardens 1) TRy S=
(2) National parks 2 TS SEE
(3) Sanctuaries (3) srRYY
(4) Biosphere reserve @) IEREER R
137. Pineal gland secretes a hormone called - 137. iffga 9 g1 i M e % -
(1) Oxytocin . (1) iR\
(2) Vasopressin 2 TEmRE
(3 Melatonin @ FaEfE
(4) Thyroxine @) TR
138. For constructing pie diagram the area of ci;cle 138. T RE/ tﬂ{_&: T o oG, 991 @ S
is calculated by |- CIRINE ?r?f Il & —
@ >n M mEw ‘
@ 2mr , @ 2nrEm
3 3mr - 3) 3mrgrr ¢
@ 7 @ m2EN
139. In human kidneys renin is released mainly 139. 79 & g A W g $9 N
by - iR (Refie) gem 27
(1) Proximal convoluted tubule (1) iU gefom ARl 4
(2) Collectingtubule 2) WU ST F
(3) Distal convoluted tubule: @ T ?15,3%1'6{ ERE R
(4) Juxtaglomerular cells @). STRIEFEReER PIRGRT I
140. ATP is utilized during which step of the Calvin 140. &feas ¥% & &9 ¥ =ROT § QLA &7
Cycle? SUART BT 87
(1) Regeneration 1) YA
(2) Carboxylation (2) DRI
(3) Reduction @) T
(4) Both (1) and (3) @ &R (3) =t
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141. Species with high fecundity, high growth rates 141. T= Bdwl, S=a g X iR B TR B
and small body sizes are typically - ITHR qiell Yool AR 9% Bidl & —
(1) endangered species () Jau"g wemoar
(2) keystone species 2) @B — N yeaar
(3) k- selected species 3) k — =i gonfyat
(4) r - selected species @) r1— TR et
142. Volume of air inspired or expired during normal 142. TR Ta9 & SR eafa ar g
' respiration is called - Y AT HEART & —
(1) Tidal volume (1) UK ™A
(2) Total lung capacity 2) SURYH @Har
(3) Inspiratory capacity (3) Freame eman
(4) Vital capacity @ e g
it
143. Polyarch vascular bundles, are usvally found 143. ggaMieede® wagd Jd 9iRgd UY S
in- 3 g -
(1) Monocot roots (1) T Gig ¥
(2) Dicot roots 2 fdoud e d
{(3) Monocot stem @) THFEETE T F
(4) Dicot stem @) ST o F
144. Which of the following hormone is secreted by 144. 7= # & B9 s8EN =<l §RT SAad
placenta? forar <man 87
(1) Luteinizing hormone D) geasiT gFE
(2) Estrogen 2) W
(3) Testosterone (3) RN
(4) Human chorionic somatomamotropin @ T PRTEE @ﬁ?ﬂﬁmﬁfﬁﬁ
145. Which one of the following represents an ovule, 145. fFfoRag & | B9 & duis @1 gt
where the embryo sac becomes horse — shoe PRAT 8, SISl YOI HIS & A B MR
shaped and the funiculus and micropyle are Pt B T & @R A 3R A
close to each other? Th TER P PN BT §?
(1) Amphitropous 1) THIEIH
(2) Circinotropous (2) SRFIEES
(3) Atropous @) Tgu™
(4) Anatropous @ TR
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146,  Mode is - 146.

147.

i48.

149.

150.

(1) The mid value of the data.

(2) Most frequently occuring value in a
data set.

(3) The central value of a sequence of data
which divides the entire distribution
into two equal parts.

(4) An arithmatic mean

A graphical representation of a frequency 147.

distribution is called -
(1) Stem and leaf plot
(2) Scatter diagram
(3) Time — series plot
(4) Histogram

Glisson’s capsule is found in - 148.

(1) Kidney
(2) Brain

(3) Gall bladder
(4) Liver

Which of the following is not the type of 149.

constructivism? |

(1) Cognitive Constructivism
(2) Animal Coastructivism
(3) Social Constructivism )
(4) Radical Constructivism

Which of the following is not the kind of 150.

learning given by Ausubel’s modern cognitive
theory of learning?
(1) Observational learning

(2) Rote learning
3) Meaningfull learning
(4) Reception learning

IEAP & —

@
@

&)

“@

el & & &1 AF |

ST ¥ A it IR SuRe X
BT A

3MiS] B G B T BT 98 G
i Hyel fAaRor @7 <1 aER AnT |9
e, w |

HHAY ARG

INARAT § B AW FEUT B wEr
ST § -

1)
2
&)
@

T 3R Wi B Wi
Thew ARE
THI— el Wi

e

feras &7 dige T o ¥ —

0y
2)
3
@

J&F |
aResp |
IEGINpE
TP 4

frafaRag § @ ®w Bfifaare a1 wer
T 87

@
)
3
@

LRI CREIEREI
uy] e
e faas
Wiwd e

Prfiad § § B difgde gRr wa
I A IGId ST 3 glel
ferm™ Rigla &1 9eR w8l 87

@
@
3
@

AHATAD A
IEHY GGl
areiyel e
JFRTET WGl
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